

GENERAL OVERVIEW



FACULTY OF DETECTIVES AND CRIMINALISTICS

Adi Pa

FACULTY OF ART AND DESIGN



FACULTY OF INFORMATICS









APPLY NOW! applynow@eurm.edu.mk





1. WHO ARE WE?

The EUROPEAN UNIVERSITY is an accredited private higher education institution in Skopje, North Macedonia, that offers a variety of courses – undergraduate (Bachelor) and postgraduate (Master) studies in several scientific areas ranging from dental medicine, art & design, criminalistics and security, economics, and software engineering.





The History of the University begins with the foundation of MM College that evolved into the Faculty of Social Sciences in 2003.

The First Private European University was recognized as a legal successor in 2005, and in 2007 it become the legal entity that is known today.

All the study programmes are reaccredited in 2018 | 2019.





2. WHERE ARE WE?

We are in the center of Skopje, the capital of N.Macedonia, a landlocked country in south-east Europe, rich with tradition, natural landmarks and cultural diversity.

You can reach us via the International Airport Skopje.







QUICK FACTS

Constitutional name: Republika Severna Makedonija (Republic of North Macedonia) Status: Independent republic since 1991 Language: Macedonian Alphabet: Cyrillic Population: 2,022,547 Religion: Orthodox Christian, Muslim, Roman Catholic

Government: Parliamentary Democracy Capital: Skopje Border countries: Albania, Serbia, Kosovo, Bulgaria, Greece Area: 25,713 km² National parks: Three Total length of roads: 10,591 km Airports: 2 (international airports Skopje and Ohrid) <u>http://skp.airports.com.mk/</u> Time: CET (GMT+1) Currency: denar (MKD) 1€ = 61.69 MKD 1\$ = 53.14 MKD 1£ = 67.80 MKD 1CHF = 57.49 MKD International telephone code: +389



3.FACILITIES

The European University building is located on one of the main boulevards – Sv.Kliment Ohridski, in the very center of Skopje.

The University building is of historic importance both for the city and the state and it is located in the immediate vicinity of a number of important locations, such as several ministries, banks, the European Union Office, business centers, etc.





HH

H

H

ЕВРОП

H-H

Address: Blv."Sv.Kliment Ohridski" 68 1000 Skopje, N.Macedonia Location coordinates: 41.9941°N, 21.4242°E

THE THE THE THE



3.FACILITIES

Our University building is a modern structure that can easily accommodate large number of students (area of 14.000 m²). Currently, we have fully equipped:

- 17 classrooms
- 2 amphitheaters
- 5 computer labs
- 2 studios (fashion & design)
- 1 atelier
- 4 dental labs
- 2 dental tech.labs
- University Dental Clinical Center







4.WHY EUROPEAN UNIVERSITY?

- Affordable higher education
- Compatibility with the European Higher Education Area and the Bologna Process
- International recognition
- Premium location
- Modern facilities
- Theoretical & practical classes at one place
- Macedonian and/or English language of tuition





PRIVATE AND CONFIDENTIAL

Mrs Gordana Stojanova-Charakchieva

Hampshire RG21 7UG United Kingdom

Dear Mrs Stojanova-Charakchieva,

I refer to your recent application for entry onto the UK Dentists' Register in accordance to the provisions of Section 15(1)(c) [Section 16(2A) and 16(2B)] of the Dentists Act 1984.

I can confirm that your application has been considered successful, provided that you can meet the other requirements of registration (i.e. identity, English language, good character and good health, both physical and mental). Further documentation required to complete your application is as follows:

Gordana S.Charakcieva, Dentistry Graduate Successful application for entering GDC (UK)



Katerina Trpkovska, Art&Design Graduate started her own furniture design company





Elena Koneska, Informatics Graduate Continued her education at the University of Liverpool

Martin Velkovski,

Detectives&Criminalistics Graduate Chief Security Officer in an international pharmaceutical company



Aleksandar Antevski, Economics Graduate Recognized Diploma in Canada



availability

Erasmus+ mobility

Low living costs







www.gdc-uk.org

Student support and teacher/assistant

Open admissions (no entrance exam)

Contact Number Reference

Date

02 August 2017

5.WHAT DO WE OFFER?

The education that we provide is compatible with the European framework of higher education and qualifications, which means fully implemented ECTS (euro-credit-transfer-system). The undergraduate academic studies are in duration of 4 years 240 ECTS (except Dentistry 5 y. 300 ECTS) and postgraduate studies 1/2 years (60/120 ECTS). For international students, we offer the following accredited study programmes:

STUDY PROGRAMMES

UNDERGRADUATE – BACHELOR STUDIES					
Faculty	Undergraduate	Duration/ECTS credits	Title	Tuition fee	Instalments
	Dentistry I&II cycle integrated academic studies	5 y. / 300ECTS	Doctor of dentistry	5.000€	2 (2.500€ per semester)
Dentistry	Dental Technicians vocational studies	3 y. / 180ECTS	Graduated Professional Dental Technician	2.500€	2 (1.250€ per semester)
Detectives and criminalistics	Criminalistics	4 y. / 240ECTS	Graduated Criminalist	2.500€	2 (1.250€ per semester)
Art & Design	Art & Design - graphic design - fashion design - interior design	4 y. / 240ECTS	Graduated Designer	2.500€	2 (1.250€ per semester)
Economics	Finances	4 y. / 240ECTS	Graduated Economist in Finances	2.500€	2 (1.250€ per semester)
	Marketing	4 y. / 240ECTS	Graduated Economist in Marketing	2.500€	2 (1.250€ per semester)
	Business Management	4 y. / 240ECTS	Graduated Economist in Business Management	2.500€	2 (1.250€ per semester)
Informatics	Software Engineering	4 y. / 240ECTS	Graduated Engineer in Informatics	2.500€	2 (1.250€ per semester)

POSTGRADUATE – MASTER STUDIES					
Faculty	Postgraduate	Duration/ECTS credits	Title	Tuition fee	Instalments
Detectives and criminalistics	Security	1 y. / 60ECTS	Master of Security	2.500€	2 (1.250€ per semester)
Art & Design	Art & Design	1 y. / 60ECTS 2 y. / 120ECTS	Master of Art / Design	2.500€	2 (1.250€ per semester)
Economics	Finances	1 y. / 60ECTS	Master of Finances	2.500€	2 (1.250€ per semester)
	Marketing	1 y. / 60ECTS	Master of Marketing	2.500€	2 (1.250€ per semester)
	Business Management	1 y. / 60ECTS	Master of Ec.Sci. in Business Management	2.500€	2 (1.250€ per semester)
	Healthcare & Pharmaceutical management	1 y. / 60ECTS	Master of Ec.Sci. in Healthcare and Pharmaceutical Management	2.500€	2 (1.250€ per semester)

WHAT DO WE OFFER?

STUDY COSTS | EXPENSES

The following costs are included in the amount of the tuition fee: student organization fee, insurance, as well as one-time costs for issuing an Index and Student ID card.

During the course of the studies, the student personally pays the following expenses:

- Administrative fee for semester registration: 1.200 MKD (20€);
- Application for 1 exam: 620 MKD (10€) in the regular deadline, 930 MKD (15€) after the deadline is expired;
- Application for 1 partial exam: 460 MKD (8€);
- Defending the diploma paper (Bachelor thesis) and issuing a Diploma for completed cycle of studies: 8,790 MKD (145€) || Master thesis defence 233€;
- Graduation gown: 500 MKD (8,5€);
- Certificate for passed exams: 1,000 MKD (17€)
- Dis-enrolment: 12,340 MKD (200€) *in case of withdrawal from studies.

*Procurement of academic / professional literature is at the expense of the student.

**At the Faculty of Dentistry, the doctor's coat, drill and turbine are purchased by the student at his own expense and he retains and uses them as personal property after completing the studies. The dental materials for practical work are provided by the Faculty.

Payment details

Account details for overseas payment, in EUR (\in) or USD (\$)				
56A: Intermediary Institution - BIC:	57A: Account with Institution-BIC:			
RZBAATWW	SWIFT: EXPCMK22			
RAIFFEISEN BANK INT.AG	HALK BANK, INC.,SKOPJE			
VIENNA, AUSTRIA	MACEDONIA			
59:Beneficiary Customer – Name & Addr:				
IBAN: MK07270701000728870				
EVROPSKI UNIVERZITET - RM				
BUL.SVETI KLIMENT OHRIDSKI BR.68 SKOPJE, MACEDONIA				

Account details for payment in N.Macedonia, in MKD (local currency Macedonian Denar)			
Acc.Holder	EVROPSKI UNIVERZITET		
Account No.	30000002540078	270062123280220	
Bank	Komercijalna Banka AD Skopje	Halk Banka AD Skopje	

LANGUAGE OF TUITION

The tuition for every study programmes is conducted in Macedonian and English language, according to the student's choice (*except postgraduate study program Art and Design 4 + 1, only Macedonian). For international students, proof for language proficiency (level B1 CEFR) is required.

Regarding the Proof for English language proficiency at required level B1, the European University accepts:

- a) Confirmation from the secondary school regarding English language proficiency;
- b) Certificate from a language school;
- c) Internationally recognized certificate (TOEFL, IELTS, etc.);

In case of a) and b), the candidate will take a language proficiency test before starting the academic course.

In case of c), the candidate may start the academic course immediately, without additional language testing.

WHAT DO WE OFFER?

ERASMUS+ MOBILITY

The EUROPEAN UNIVERSITY is an active participant in the Erasmus+ programme with an expanding base of partner institutions. The programme provides financially aided student mobility within and outside of the European Union. Here you can find some of our partner institutions from the Erasmus+ programme.

EUROPEAN UNIVERSITY Skopje - ERASMUS+ PARTNER INSTITUTIONS					
University of Ljubljana – Faculty of Social Science, Ljubljana, Slovenija	Ege University, Izmir, Turkey	European University of Tirana, Tirana, Albania			
Universita di Foggia-Italy	University of Busines and Rural Development, Plovdiv, Bulgaria	Universum College, Pristina, Kosovo			
Istanbul University – Istanbul, Turkey	Faculty of Commercial and Business Sciences, Celje, Slovenia	Faculty of Economics, University of Nis, Serbia			
Gazi University – Ankara, Turkey	Ankara University, Ankara, Turkey	Gedik University, Istanbul, Turkey			
Ticaret University – Istanbul, Turkey	Akademia Sztuki w Szczecine, Poland	Yarmouk University, Jordan			
Akdeniz University – Antalya, Turkey	Dicle University, Turkey	Kyiv National University of Trade and Economics, Kyiv, Ukraine			
Biruni University – Istanbul	Ankara Yilderim Beyazit University, Ankara, Turkey	Academia Higher Education Colleges, Maribor, Slovenia			
University of Business Studies (UPS), Banja Luka	Biruni University, Istanbul, Turkey	International Business School, Botevgrad, Bulgaria			
International University Travnik -Bosnia and Herzegovina	Aspira-University College of Management and Design, Split, Croatia	Western New Maxico University, USA			
University of Donja Gorica, Podgorica, Montenegro	Istinye university, Istanbul, Turkey	University of Split-Split, Croatia			
The University of Economics and Culture, Riga, Latvia	Burgas Free University, Burgas, Bulgaria	Latvia Culture College at the Latvian Academy of Culture, Riga, Latvia			



Erasmus+



6. ADMISSION PROCEDURE

OPEN ADMISSIONS

At the European University we have open admissions. That means no entrance exam, only ranking and introductory interview with the candidates.

The ranking of the candidates is based on the total grade average from secondary school. We don't review specific grades | subjects (ex. biology, chemistry...). As long as there are available enrolment places left, we can accept every candidate that has applied and meets the general conditions.

If there are more candidates than the available registration spots, then the total grade average from secondary school is relevant for someone to drop out of the acceptance list (not to be registered).



HOW TO APPLY?



WHO CAN ENROLL?

BACHELOR:

Applicants with completed 4-years secondary school and successfully passed state matriculation (final) exam or international matriculation exam, proficient in English (or Macedonian) language – level B1 (CEFR)

MASTER:

Bachelor graduates with 240ECTS, proficient in English (or Macedonian) language – level B1 (CEFR).

*Faculty of Art&Design 120ECTS curriculum – Bachelor graduates with 180ECTS

Candidates are welcome from all around the world.

You can apply online at our site <u>www.eu.edu.mk/en</u> Registration application forms are available.

Fill in the Application, click Save, and submit it together with the scanned documents at your disposal (check out the Announcement for registration) at the following e-mail address: applynow@eurm.edu.mk

* The Documents you submit electronically are submitted in original at the Student's Office along with other relevant evidence that you meet all the conditions prescribed by the Announcement for registration, no later than 30.09.2020.

